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Shopping word problems

Grade 4 Word Problems Worksheet

Using the below item prices, solve the equations.

hotdog = $1.28 cola=$1.26

order of French fries = $1.13 ice cream cone = $1.62
hamburger = $2.19 milk shake = $2.42

taco = $2.39 deluxe cheeseburger = $3.91

What is the total cost of two colas, two ice cream
cones, and two orders of French friese

Ellen purchases two colas, two tacos, and anice
cream cone. How much money will she get back if
she pays $15.00¢

Steven purchases a hamburger and an ice cream
cone. What will his change be if he pays $10.002

Audrey wants to buy a hamburger and two orders of
French fries. How much will it cost her?

What is the total cost of a taco, two hotdogs,
and two hamburgers?

Billy wants to buy two hamburgers.
How much will he have to pay?
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Answers

1. $8.02 _ What is the total cost of two colas, two ice cream cones,
and two orders of French fries?

2. $6.08 Ellen purchases two colas, two tacos, and an ice cream
cone. How much money will she get back if she pays
$15.00?

3. $6.19 Steven purchases a hamburger and an ice cream cone.
What will his change be if he pays $10.00?

4. $4.45  Audrey wants to buy a hamburger and two orders of
French fries. How much will it cost her?

5. $9.33 _ What is the total cost of a taco, two hotdogs, and two
hamburgers?

6. $4.38 Billy wants to buy two hamburgers. How much will he

have to pay?

Reading and Math for K-5 © www.k5learning.com



http://www.k5learning.com/

